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NOTE: This paper contains FIFTY (50) multiple-choice / Assertion & Reasoning/

Matching questions, each questions carrying two (02) marks. Attempt

ALL the questions.
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Which one is not an element of
macro economic component of
business environment?

(A) GDP

(B) Balance of payment

(C) Form of business

(D) Foreign Exchange Reserve.

Which one is not an element of
legal environment

(A) IPR

(B) Patent

(C) Technology transfer

(D) Consumer Protection Act.

L.P.G. regime is popularly known

in economics and commerce as

(A) Liquefied Petroleum Gas

(B) Learning, professing and
Graduating

(C) Liberalization, Privatisation
and Globalization

(D) None of the above.
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Which one was not incorporated in
the second generation reforms ?
(A) Labour reforms

(B) Fiscal reforms

) (C) Education reforms

(D) Banking reforms.

When the New Industrial Policy
was announced in the line of
liberalization?

(A) 07-07-1991.

B) 24-07-1990

C) 24-07-1991

(D) 01-01-1995

When the cost to the parent of its
investment in a subsidiary is less
than the parents' portion of equity
of the subsidiary, at the date on
which investment in the subsidiary
is made, the difference between the
two is known as

(A) Goodwill

(B) Capital reserve

(C) Minority interest

(D) Investment.

7.. The cashflows arising on

acquisition and disposal of long-
term assets and other investments
not included in cash equivalent are

.shown in the cashflow statement as

cashflows from

"(A) Operating activities

(B) Investment activities
(C) Financing activities
(D) General activities
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8. The budget which recognises the
difference in behaviour between
fixed and variable costs in relation
to fluctuations in output, turnover
or other variable factors is known
as ,

(A) flexible budget
(B) fixed budget

(C) operating budget
(D) standard budget.

9 The method of valuation of share
that takes into account both
intrinsic value as well as yield
value is known as
(A) Net asset value approach
(B) Yield value approach
(C) Fair value approach
(D) Intrinsic value approach.

10. Four partners P, @, R, and S share
their profit in the following manner
: 2/3rd of profit is shared equally by
P and Q. The balance is shared by
R & S in the ratio of 3:2. The profit
sharing ratio of P Q R and S will
be .

Ay 1:1:3:2
B) 2:3:3:2
) 5:5:3:2
Dy 2:2:1:1

11. Elasticity of demand is
(A) Quantity/Price
(B) Price/Quantity
(C) Responsiveness of change in

quantity demanded
(D) None of the above.
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12.

13.

14.

15.

Which of the following statements
is incorrect ? -

" (A) The demand depends on price

(B) There is negative relationship
between quantity and price

(C) There is inverse relationship
between price and quantity.

(D) There is positive relationship
between price and quantity.

Indifference curve is defined as
(A)k ‘C}zrve indicating choices
B) A locus of various combi-
nations of two commodities
(C) Curve showing
- favourable choice

(D) None of the above.

one's

In which market structure 'Kinked
Demand' curve found ?

(A). Monopoly

(B) Duopoly

(C). Oligopoly ,
(D) Perfect competition:

'‘Skimming' pricing strategy means

(A) Charging very low price

(B) Charging very high price
always .

(C) Charging very high price at the
initial stage and there reducing

(D) None of the above.
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16.
17.

’

B

' 18.
\

19.

The nth root of the product of n
number of items is known as

(A) Harmonic mean
(B) Arithmetic mean
(C) Geometric mean
(D) Quadratic mean.

Which one of the following is not a
method of primary data collection?

(A) Questionnaire

(B) Experiment

(C) Field investigation
(D) Records of RBIL

When the size of a sample is small
and the standard deviation of the
population is not known, which one
of the following tests will be
suitable to test the significance of
the difference between means of
two sample groups?

(A) t-test

B) z-test

(C) f-test

(D) chi-square test

Correlation between two variables
denotes

(A) Cause and effect relationship
(B) Availability

(C) Coas sociability

(D) A & B.
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20.

21

The critical value of z at 5% level
of significance for two-tailed test is
(A) 1.645

B) 1.96

(C) 232

(D) 2.5758

Strategic planning refers to

(A) Strategic Business

(B) Long Term Planning
(C) Core Business Planning
(D) None of the above.

Staffing refers to
(A) Training as staff

: .(B) Retirement as staff

(Cy Planing for future

.. (D) None of the above.

23.

24.

25.

Budget is a tool of

(A) Action in Business

(B) Execution of Plan

(C) Controlling in"'Business
(D) Expenditure Assessment.

Corporate governance is a
(A) Statutory requirement
(B) Market requirement
(C) Social requirement
(D) Business requirement.

Managerial Grid relates to
(A) Managers in Grid

(B) Leaders in Grid

(C) Political Style

(D) Leadership Style
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26.

217.

30.

Which one of the following is not a
recognized marketing mix.

(A) Product
(B) Place

(C) Policy
(D) Promotion

Which one of the following is not
the information search source for a
consumer us a stage of buying
process.

(A) Personal source

(B) Public source

(C) Library source

(D) Experimental source

Which of the following is not a
usual price discount ’

(A) Individual Discount

(B) Seasonal Discount

(C) Cash Discount

(D) Quantity Discount.

. Which of the following is not a type

of retailer

(A) Discount store

(B) Super market

(C) Wholesale stockiest

(D) Convenience stores

Which of the fallowing is not a

“major media type

(A) Television

(B) yellow Pages

(C) Radio

(D) Government Manual
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31.

32.

33.

34.

An ordinary share is selling at a
current market price of Rs. 120,
and paying a current dividend of
Rs. 9 per share which is expected
to grow at a rate of 8%. The after-
tax cost of equity will be

(A) 9%

B) 17.5%

(C) 16.1%

D) 8%

For achieving the goal of
shareholder's Wealth
maximization, while taking capital
budgeting decision, the method of
appraisal sued should be

(A) NPV

(B) IRR

(C) Sensitivity Analysis

(D) Payback period.

For working capital financing large
well established companies can
borrow through

(A) Commercial paper

(B) Certificate of deposit

(C) Treasury bill

(D) Accounts receivable.

For corporate dividend behaviour
the concept of "target-payout ratio’
and the 'adjustment rate' was
incorporated by

(A) dJohn Lintner

B) Miller

(C) Sharpe

(D) None of the above.
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35.

36.

37.

38.

Suppose a new firm, Brightways
Ltd. is being formed. The
management of firm is expecting a
before-tax rate of return of 24% on
the estimated total investment of
Rs. 5 lakhs. The firm is considering
2 alternative financial plans, (i) all
equity or (i1) 50% equity (Face
value Rs. 10/-) The difference in
EPS, between two plans will be
(A 50%

(B) 1.00

(C) 0.65

(D) 0.45

The concept of Human Resource
Management was evolved by

(A) F.W. Taylor

(B) Elton Mayo

(C) Marshall

(D) A.C. Pigu.

Which of the following is not a
method of Job Evaluation Methods.
(A) Ranking method

(B) Factor Comparison

(C) Point Rating

(D) Simulation.

_Which of the following is not a

method being used for imparting a
training

(A) Seminar

(B) Workshop

(C) Group Discussion

(D) Touring.
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39.

40.

41.

43.

Management By Objective (MBO)
as one of the management tool
evolved by

(A) John Breadman
(B) Lady Dyna

(C) Peter Drucker
(D) Sam Pitroda

"Joint Management Council”" has
been a part of

(A) Trade Union Movement
(B) Political Interference
(C) Workers' Participation
(D) Workers Safety.

The diversification in banking
excludes

(A) Internet banking

(B) Factoring

(C) Branch Expansion

(D) Underwriting.

The statutory liquidity ratio can
range between

(A) 3% to 16%

(B) 40% to 50%

(C) 25% to 40%

(D) None of the above.

Narsimham Committee-II,
emphasised on reducing the Non-
Performing Assets through

(A) CRR

(B) SLR

(C) Capital adequacy ratio

(D) Local area banks.
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44.

45.

| 46.

48.
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Which of the following so-called
development banks have entered
into retail banking as a private
bank

(A) IDBI

B) ICICI

(C) A & B both

(D) None of the above.

Which one of the following is not an
instrument of money market.

(A) 182 days treasury bills

(B) participation certificates

(C) Dated government securities
(D) RBI Bonds.

Which one is not the variable of
international business ?

(A) Geographical distance

(B) Different Areas and population
(C) Common Governments

(D) Different Timings.

The current W.T.O. membership of
countries is of

(A) 146
(B) 148
(C)y 147
(D) 149

Bulk of the Indian imports is of:
(A) Petroleum Crude and products
(B) Edible Oils

(C) Machines

(D) Chemicals.

Comm. P-II

XY,

X9,

¥g,

“‘3‘

¥<,

13

ARALAEL SRl 58 [@Asre-ois Al
ols gy ges- tllbadirl naeil 8-
A) suddledud

(B) 20 A 208 Aq 208

(C) A 2w ol v

(D) GuRLEa 518 gl

ARAALAEL 52, AU 0102, 00k ) -
(&) 1¢r Bal dal-vila

(B) euallg ikl mausast

(©) AR ArsEL sl

(D) BuR.o{L S, olws

AL USL 5%, ARG a2,
a2y ) ?

(A ey 2ar

B) ([AGEA 2 Azl

(C) NS ARSR

(D) [aldu= 2

sotey-dl- 0 AL gladl weu wval
Searziel ® -

(A) ¥3

B) ¥e¢

(© ¥9

(D) ¥

QURALL BUALAAL WLV

(4) WUAuN 5§ 2 dell Gows B
(B) vaaa B

(C) Wl ©

D) AR sl 8.

[P.T.0.]



49.

50.

EXIM Policy aims at

(A) Regulating money supply

(B) Promoting and facilitating
exports imports

(C) Controlling population

(D) Promoting infrastructure.

With which region the direction of
foreign trade of India has been
more ?

(A) Other OECD

(B) OPEC

(C) OECD

(D) Eastern Europe.
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